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&5 81 (ppm) 0.08 0.07 0.2 0.04 0.88 0.05
PhEE (1 g/m3)
BRI (1 o/m3) 100 260 870 240 3800 220
AIERE pmXIE peg/m®) x2
< [ BIERNE BIEAE
sk AE=E #AR S R LN 4 I B a1 o IS B ]
LTER T Roty | vy u
AEfR/NFR 1F E@8%=E R3.2.24 TRERE 7.7 <80 <80 <8.0 <8.0 <8.0
/N FA BREE R3.3.18 PRBCE <20 130.0 18.0 <80 17.0 <80
/N FA BE= R3.3.18 PRBCE <20 32.0 <80 <80 8.8 <80
/N RERE R3.3.18 PRBCE 7.6 210.0 9.1 <80 19.0 <8.0
=M DFRIDFR ZEME DA R3.3.24 YLl <50 12.0 <50 <7.0 <50 <50
=MD FRIDFR F1IEET R3.3.24 YLl 10.0 8.0 <50 <7.0 <50 <50
=T DFRIDFR ZEME REEE) R3.3.24 YLl <50 17.0 <50 <7.0 <50 <50
= DFRIDFR Banyh—3= R3.3.24 YLl <50 14.0 <50 <7.0 <50 <50
= DFRIDFR BRI IR EE R3.3.24 YLl 7.0 <50 <50 <7.0 <50 <50
= DFRIDFR RE=E R3.3.24 YLl 6.0 11.0 <50 <7.0 <50 <50
= DFRIDFR ESSES R3.3.24 YLl <50 <50 <50 <70 <50 <50
= DFRIDFR BE= R3.3.24 YLl <50 8.0 <50 <7.0 <50 <50
= DFRIDFR REE R3.3.24 YLl <50 <50 <50 <7.0 <50 <50
=MD FRIDFR HBikE=E R3.3.24 YLl <50 98.0 7.0 <7.0 7.0 <50
=T DFRIDFR RERERE R3.3.24 YLl <50 23.0 <50 <7.0 <50 <50
= DFRIDFR REERE R3.3.24 YLl <50 23.0 <50 <7.0 <50 <50
= DFRIDFR FEE R3.3.24 YLl <50 <50 <50 <7.0 <50 <50
=M DFmIDFR HEE R3.3.24 LB <50 <50 <50 <7.0 <50 <50
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